PP,

1.[Javal[I] [I] - cipher.charAt(i-1)

2. [Javal [TIT] (11
3. [Javal [11] 11 - numbers.replaceAll(a,b);

4. [Javal 111 [0 - return new String(arr);

e 5. [Java] | [1 | (11 ) - sb.toString();
e 6. [Javal [TIIT] - list.toArray(new String[0]);

7.0Javal[1] [0 [0 [I1 -return new int[]{max, idx};

8. [Javal 11l [N - Character.isDigit(c)

9. [Javal [TT] 110 (11 , Set) - set.contains(str)

10. [Javal [I] [I1 - String.indexOf(), String.valueOf()

11. [Javal [TI1] 1111 (2): case?[] [] longer - shorter[]] ?

12. [Javal [T]] (1): break vs continue




1. [Java] ?? ?7? - cipher.charAt( -
1)

https://school.programmers.co.kr/learn/courses/30/lessons/120892

[

class Solution {

public String solution(String cipher, int code) {

StringBuilder sb = new StringBuilder();

for (int i = code; i <= cipher.length(); code++;) {

sb.append(cipher[i-11); // 0000 o00 OO
}

return sb.toString();

? for?? ?2?? ?7?

for (int i = code; i <= cipher.length(); code++;)

e—>code++—-[11 OO0 OO 00D (@ M ™)
e » code++[] code ] [I [OIIII [TTTT nl

? R 20? 79?7?77

e Javalll [T [I0 M M - charAt(index) [I11J O


https://school.programmers.co.kr/learn/courses/30/lessons/120892

class Solution {
public String solution(String cipher, int code) {
StringBuilder sb = new StringBuilder();
for (int i = code; i <= cipher.length(); i += code) {
sb.append(cipher.charAt(i - 1)); // 0000 eQ0QO OO
}

return sb.toString();



2. [Java] 2?2?? 2?7

https://school.programmers.co.kr/learn/courses/30/lessons/120893

[

class Solution {
public String solution(String my string) {
StringBuilder sb = new StringBuilder();
for(int i = 0; 1 < my string.length(); i++) {
if(Character.isUpperCase((my string.charAt(i)))) {
sb.append(Character.toLowerCase(my string.charAt(i)));
} else {
sb.append(Character.toUpperCase(my string.charAt(i)));

}

return sb.toString();

0 my_string.charAt(i)J I [ charc = my_string.charAt(i); 0 [T M IO 1111

an

class Solution {
public String solution(String my string) {

StringBuilder sb = new StringBuilder();

for(int i = 0; i < my _string.length(); i++) {
char ¢ = my_string.charAt(i);
if(Character.isUpperCase(c)) {

sb.append(Character.toLowerCase(c));

} else {

sb.append(Character.toUpperCase(c));



}

return sb.toString();



3. [Java] ??7? ??7? -
numbers.replaceAll(a,b);

https://school.programmers.co.kr/learn/courses/30/lessons/120894

M

class Solution {
public long solution(String numbers) {
String[] words = {
"zero", "one", "two", "three", "four", "five",
"six", "seven", "eight", "nine"
}i
for (int i = 0; i < words.length; i++) {

numbers = numbers.replace(words[i], String.valueOf(i));

}
return Integer.parselnt(numbers);
}
}
(1111 [ITIT] M 1] (1
image.png
image.png

? Integer.parselnt() ?? ? ??? ??

e [II [M IO int] 00 [0 g 0D 01

I [ OO0 [OIId a0 o040

e [ 00 . 130 OO MOI;o int(32[10 [ )0 OO0  2,147,483,647(] [I0J
e - Integer.parselnt()] (M 0O 0O -0 1 (NumberFormatException) [T]

o [TTJ return [I1] int 10 long 11T 111 1l

an
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class Solution {
public long solution(String numbers) {

String[] words = {
"zero", "one", "two", "three", "four", "five",
"six", "seven", "eight", "nine"

b

for (int i = 0; 1 < words.length; i++) {
numbers = numbers.replaceAll(words[i], String.valueOf(i));

}
return Long.parseLong(numbers); // [0 int - long OO0 0O

??? NS 7?77?77

? ??7? (Primitive type)

e int - [11] (0 [M (primitive int)
elong->[I] [M M (primitivelong)

i 0 g O
Mmoo 0o og o0 oo

? ??? (Reference type, Wrapper class)

e Integer - 1] (M OO ., Wrapper class for int)
e Long - [11J (M OO ., Wrapper class for long)

(44 111 00 null@ M@ 0O
(1] ArrayList<Integer>[1] [IIT] [ M
(1] [T 111 o 0D -00







4. [Java] ??7? ??7? - return new
String(arr);

M

class Solution {
public String solution(String my string, int numl, int num2) {
String[] arr = String.toCharArray(my string);
char tmp = arr[numl];
arr[numl] = arr[num2];
arr[num2] = tmp;

return arr.toString();

}

? String[] arr = String.toCharArray(my_string);
e — String.toCharArray()] char[l] III10J 11 String[10 0 charl[l10 1

? String.toCharArray() ??

e - my_string.toCharArray();

e toCharArray()[J String [111J 111 (1111 .
e [ITJ String.toCharArray() [ (I0J 1 m )
eIl MO (my_string)d OO [

? return arr.toString();

e char[l] toString()0 M I o .
e > [I] new String(arr)] I 11 (1]




class Solution {
public String solution(String my string, int numl, int num2) {
char[] arr = my string.toCharArray();
char tmp = arr[numl];
arr[numl] = arr[num2];
arr[num2] = tmp;

return new String(arr);

P07 ??0?NS 270?277

(10 (LT i (LIT] =00 OO (staticdd )0 000 .0 M 000
(o I [0 [ o g on oo

ad 01 static [I11] (11 M oo 0o Ood oOo O M OO0 0 M
(1IT] S0 01 0 M 010 o Mo M O (1] (11
10 IO 0 110 .11 [0 Integer.parselnt("123")] IO 11 111 11
(1m0 . Integerl] [0 [T M oo 0om .

[ I [LIT] [ g O an 0 0 OmIo 0.new Il OO [

oo 0o om .0 oom m (@ Mmoo om m .0 [ ,strlength()d

(an [ st 00 010 (11 (LI 0 st 00 [0 ag o0 -

(111 (1 (1 oo M o0 m oo . oo (1111 o M o
110 [0 [ .,PersonI] [0 sayHello()[T] [II0 (11 1o .
personl.sayHello()] person2.sayHello()J M M@ 000 0OI0O .0 0 OIImo 10 [
name [[1 00 IO

a0 I [LIT] oo 0ofg O (L]
o g 0o 0o .ol a0
[LIT] arm 00 Ofo arm - O
a0 I [I1T] m m .

oo 0 oo . og O [ I
o oo o0oopn mM oo m .
0 M I M I [1T11

? 1. ???27? ??? (Instance Method)

[0



I 0O 00O 00O Od
I M (@ 0D OO oo 0m

public class Person {

String name;

public void sayHello() {

System.out.println("Hello, my name is " + name);

// 00
Person p = new Person();
p.name = "Dain";

p.sayHello(); // 0d: Hello, my name is Dain

? 2. 2?2?77 ??? (Class Method)
(1]

e[ M M M OO oo
o static [TIT] 11

[

o (111  [IIT M M
e I 0O IO [T
I M WM .0 M M 0o

[

public class MathUtil {
public static int add(int a, int b) {

return a + b;



// 00
int result = MathUtil.add(3, 5); // 00 OO0 OO OO



5. [Java] ? ?? ??27? ?7? (??7?) -
sb.toString();

https://school.programmers.co.kr/learn/courses/30/lessons/120896

M

import java.util.*;

class Solution {
public String solution(String s) {

int[] cnt = new int[26];

for(char ¢ : s.toCharArray()) {

cntfc - 'a'l++;

StringBuilder sb = new StringBuilder();
for (int 1 = 0; 1 < 26; i++) {

if (cnt[i] == 1) sb.append((char)i+'a');
}

return sb.toString();



? sb.append((char)i + 'a");

e [ intd char [IIT] (ITTIT] -, 0
e[ [ .,i=00 0 charl] (I 0O intd @ O

(char)i + 'a' // => [0 + 00 -~ int0 OO0

—i+'a'[Il char]] I oo oo O

sb.append((char) (i + 'a'));

an

import java.util.*;

class Solution {
public String solution(String s) {

int[] cnt = new int[26];

for(char c : s.toCharArray()) {

cntfc - 'a'l++;

[

int 110
-0+ 97


https://dainwiki.com/uploads/images/gallery/2025-05/eYZudtQRRtUHOE1k-image.png

StringBuilder sb = new StringBuilder();
for (int i = 0; i < 26; i++) {

if (cnt[i] == 1) sb.append((char)(i + 'a'));
}

return sb.toString();



6. [Java] ?7?7?7?7? - list.toArray(new
String|[0]);

https://school.programmers.co.kr/learn/courses/30/lessons/120897

M

import java.util.*;

class Solution {
public int[] solution(int n) {
ArrayList<Integer> list = new ArraylList<>();
for (int i = 0; 1 <= n; i++) {
if(n%i==0) list.append(i);
}
int[] answer = list.toArray(new String[0]);

return answer;


https://school.programmers.co.kr/learn/courses/30/lessons/12

?for (inti=0;i<=n;it+)

e[] i=00 0 n%O0[ ArithmeticException (O[T] [T 0O M "
e OO0 =10 OO [

2 list.add(i)

e ArrayListl] [M OO M append()d OO0 add()0 [OIT m .
e list.append(i) — list.add(i)

? int[] answer = list.toArray(new String[0]);

e List » Array [] [TI1] {1 toArray() [11T] (1111 int [ {10 [ I
0 m .
e (I (IO a0 I [

g

import java.util.*;

class Solution {

public int[] solution(int n) {


https://dainwiki.com/uploads/images/gallery/2025-05/YUDeTExVLYtWZZqv-image.png

ArrayList<Integer> list = new ArraylList<>();

for (int i = 1; i <= n; i++) {
if(n%i==0) list.add(i);

}

int[] answer = new int[list.size()];

for(int i = 0; i < list.size(); i++) {
answer[i] = list.get(i);

}

return answer;

Stream ?7? ?7?

import java.util.*;

import java.util.stream.*;

class Solution {
public int[] solution(int n) {
return IntStream.rangeClosed(1l, n) // 100 nOO OO OO
filter(i ->n % i ==10) // 000 00O
.toArray(); // int[10 00

List ? Array 7?7

List [T Mo
List<String> list.toArray(new String[0])

List<Integer> list.toArray(new Integer[0])

List<Integer> — int[] 11 M mMm M



? 1. List ? Array (??7?, ?: Integer, String ?)

* toArray() [T [ I

List<String> list = Arrays.aslList("a", "b", "c");

String[] arr = list.toArray(new String[0]);

e list.toArray(new String[0]): [1TJ 11 1 il
e new String[0]0] IO oy OIm 11

List<Integer> list = Arrays.asList(1l, 2, 3);

Integer[] arr = list.toArray(new Integer[0]);

? 2. List ? Array (???, ?:int)

e Java[] List<Integer>[] int[l] M [ OO
e (I (I 111 [

List<Integer> list = Arrays.aslList(1l, 2, 3);

int[] arr = new int[list.size()];

for (int 1 = 0; 1 < list.size(); i++) {

list.get(i); // 000 OO OO

arr[i]

Array ? List ??7?

o
Stringl[] Arrays.asList(arr)
Integer[] Arrays.aslList(arr)
int[] Arrays.stream(arr).boxed().collect(Collectors.toList())

? 1. ??7? ?? ? List (?: String[], Integer[] ?)



String[] arr = {IIaII, Ilbll’ "C”};
List<String> list = Arrays.aslList(arr);

e Arrays.asList() 00 [ 0O OO (11
e[ /I OO -0 OO OO0 (1

List<String> modifiablelList = new ArraylList<>(Arrays.asList(arr));

? 2. 7?27?72 ?? ? List (?: int[], double[] ?)

e [ int[lJ [ \List<integer>0 [ 0O M
e Stream + boxed()[] [TI1J

int[] arr = {1, 2, 3, 4};

List<Integer> list = Arrays.stream(arr) // IntStream [

.boxed() // int - Integer ()

.collect(Collectors.tolList());



/. [Java] ?? ? ? ?7?- return new
Int[{max, idx};

https://school.programmers.co.kr/learn/courses/30/lessons/120899

M

import java.util.*;

class Solution {
public int[] solution(int[] array) {
Arrays.sort(array);
int[] answer = new int[2];
answer[0] = array[array.length-1];
answer[l] = array.length-1;

return answer;

? index ?? ??7?


https://dainwiki.com/uploads/images/gallery/2025-05/cwWjCSGuQYoq2c7M-image.png

e arraylarray.length-110 [0 111 111 00 , array.length-10 [I10J 1l
(111 m .

e I I (111 [0 I (11 (111 o .

e I I M [M max, 11 MO M idxg IO (11 [0 [0
(111 o 0O0.0 00 0o Om (11

af

import java.util.*;

class Solution {

public int[] solution(int[] array) {
array[0];
0;

int max

int idx

for(int i = 1; i < array.length; i++) {
if (array[i] > max) {
max = array[il];

idx = 1i;

}

return new int[]{max, idx};

M mp 0o o0om

intD 0 00 00O O 0o 000 0Om [1T1 (111 (11

return new int[]{max, idx};

oo M oo Oop om om0 M M od

int[] result = new int[]{max, idx};

return result;



Java[l] return [ [IIID M M OO0 .M intllresult=..0 OO OO MW OO
[

[ [OI0 o o M oo oo

int[] a;

a=1{1, 2}; // 0 000 OO

- 00 m

int[] a = new int[]1{1, 2};



8. [Java] ??7? ?7?7?7? -
Character.isDigit(c)

https://school.programmers.co.kr/learn/courses/30/lessons/120902

M mM 1o m )

class Solution {
public int solution(String my string) {
char[] arr = my string.toCharArray();
int sum = 0;
for (char c : arr ) {
if (¢ != "+ && c != "-" & c I=" ") {

sum+= Integer.parselnt(c);

}

return sum;

? Integer.parselnt()

e String[] intI] [T g M Od
e char(IT] 00 o0 [0 Integer.parselnt() [I] char[@ OO -'0'0 M . (ASsCl
m )


https://dainwiki.com/uploads/images/gallery/2025-05/LiVitbBzSOtu940L-image.png

44 String = int VS char - int

1. String[] int] IO [0 Integer.parselnt()
String str = "123";

// 000 - int
int num = Integer.parselnt(str); // 123

2.char] I OO [ char[@ [m -'o0
char c = '7"';

// 00 - 00 (000)
int digit =c - '0'; // '7" - 'O =7

M m @0 m)

class Solution {
public int solution(String my string) {
char[] arr = my string.toCharArray();
int sum = 0;

for (char ¢ : arr ) {

if (¢ !="+" & c = '-" & c =" ") {
sum+= ¢ - '0"';
}
}
return sum;



o ool Moo UM m "o .0."120 00 1+2=30 0

String my string = "al2b3";
_)arr: [Ial’ I1I’ I2I’ Ibl, I3I]
-[0: 1+2+3=6 (00012 + 3000

(10 00 M@ M "12+3"-150 10 (L1

String num [IT] 11 (0 . Character.isDigit() (1 <0 0~9M11 OO OO
(10 o 0O 0o

M mMm GOm)

class Solution {
public int solution(String my string) {
char[] arr = my string.toCharArray();
int sum = 0;
String num = "";

for (char c : arr ) {

num(] [IIT]


https://dainwiki.com/uploads/images/gallery/2025-05/phrDxmQoPvm9WjSh-image.png

if (Character.isDigit(c)) {
num += c;
} else {
if (!'num.isEmpty()) {
sum += Integer.parselnt(num);

num = ||||;

}
if (!'num.isEmpty()) {
sum += Integer.parseInt(num);

}

return sum;

00 00 0D 0o oo -0 (-0 0 0o M OO0 oo mMm O

1. (110 "0 ) OI;o (I
2. [0 [ result] [IJ
3. II1] oo +I -0 0o oo O
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4. [111 m +0 0o -0 O

M M @gm)

class Solution {
public int solution(String my string) {
String[] splited = my_string.split(" ");

int answer = Integer.parselnt(splited[0]);

for(int i = 1; i < splited.length; i += 2) {
String op = splited[il];

int num = Integer.parselnt(splited[i + 1]);

if (op == '+")) {
answer += num;
} else if (op == '-') {

answer -= num;

}

return answer;

? if(op == "'+

[ I OO OO MM

e op[] String [I10J [T1T1 '+'] char(

ejavallll OO OO OO 0O ==0 I
Il true[]]

e 1 [0 IO .equals() M ™

[0 [ [0
[0 N

(L
-==0 0 O (M

[ )0 0o

af

class Solution {
public int solution(String my string) {
String[] splited = my_string.split(" ");

int answer = Integer.parselnt(splited[0]);



for(int i = 1; i < splited.length; i += 2) {
String op = splited[il];

int num = Integer.parselnt(splited[i + 1]);

if (op.equals("+")) {
answer += num;
} else if (op.equals("-")) {

answer -= num;

}

return answer;



0. [Java] ??7? ?7?(?7?, Set) -
set.contains(str)

https://school.programmers.co.kr/learn/courses/30/lessons/120903

Set(] I (O

import java.util.*;

class Solution {
public int solution(String[] sl1, String[] s2) {
Set<String> set = new HashSet<>(Arrays.asList(sl));
int cnt = 0;
for (String str : s2) {
if (set.contains(str)) cnt++;

}

return cnt;

? Set<String> set = new HashSet<>(Arrays.asList(s1));

e Set] Il [0 o .0 0o 0Og Oo0 M OO0 sig set] IO s2[]
0on Mo 0o O0Oo0 Oofg o

M for (OO )OO OO [

class Solution {
public int solution(String[] sl1, String[] s2) {
int ¢cnt = 0;
for (int i = 0; 1 < sl.length; i++) {

for (int j = 0; j < s2.length; j++) {



if (sl[i].equals(s2[j])) {
cnt++;

break;

}

return cnt;

o (I (IO [LIT] break;] [ [
e (1110 M [0 .equals() 1] {rn M (==000 M)



10. [Java] ?? ?? -
String.indexOf(), String.valueOf()

https://school.programmers.co.kr/learn/courses/30/lessons/120904

M

class Solution {
public int solution(int num, int k) {
String numToString = Integer.toString(num);
char[] arr = numToString.toCharArray();
char kToChar = (char) k;
int idx = -1;
for(int i = 0; i < arr.length; i++ ) {
if (arr[i] == KkToChar) {

return i+1;

}

return idx;

? char kToChar = (char) (k +'0);

e 1 [M :charkToChar = (char) k;

e int[II1 char 110 g o 0
e—int3[] (char) 00 3000 OO M 'ETX'[@M OO OO 0O
e = char kToChar = (char)(k + '0'); [[1 Character.forDigit(k, 10); ] [IIJ [

g

class Solution {
public int solution(int num, int k) {
String numToString = Integer.toString(num);

char[] arr = numToString.toCharArray();



char kToChar = (char) (k + '0');
int idx = -1;
for(int i = 0; i < arr.length; i++ ) {
if (arr[i] == KkToChar) {

return i+1;

}

return idx;

0 I 0 (String API[] )

public int solution(int num, int k) {
String s = String.valueOf(num);
int idx = s.index0f(String.valueOf(k));

return idx == -1 ? -1 : idx + 1;

? String.indexOf()
oo oo M oo O (0 [OI0 (0 I 110 0 00 I
mm O

String s = "29183";

int idx = s.indexOf("1"); // 00: 2

e I  "1"0 "29183"[Q] O-basedindex 2[] [T [
[0 OO -10 [

Mm M m

int indexO0f(int ch) // 00 00 00 0O (ex: 'a', 97)

int indexO0f(String str) // 000



0 [ OO (ternary operator)] if-else] 0 [ [0 00O 0o m 000

Mm 0o

000 ? 0000 = 000 O 0;

e 1111 truel 700 M M
o false[l] :[IIJ M M

[0 1

int age = 20;
String result = (age >= 18) ? "[00" : "0O000"%;
System.out.println(result); // 0O0O: OO



11. [Java] ??7?7? ??7?7?(2). case2?
? longer - shorter???

1. 77 7?7

e https://school.programmers.co.kr/learn/courses/30/lessons/120868

e [II1111 (11 o (2)

e [J I IO 0,00 00 x0 Ooo0dm 0 oo
e (1111 M M M :Mid<0ODo0md

2. 77?7?2777

e X € (longer - shorter, longer + shorter)

e [I,00 [M xO0 M
e longer - shorter + 1 < x < longer + shorter - 1

(0
import java.util.*;

class Solution {
public int solution(int[] sides) {

Arrays.sort(sides); // 00 0OOO OO
int shorter = sides[0];

int longer = sides[1];

// casel: xQJ D ODOODO->x<a+b

int casel = longer + shorter - 1;

// case2: x[0 000 OO0 OO -> X > max - min

int case2 = longer - shorter;

return casel - case2;


https://school.programmers.co.kr/learn/courses/30/lessons/120868

3. longer - shorter + 1? ?7? ??

e [] case2 = longer - shorter[[] ?

e case?[] [IT] X[ I

o (I OIN longer - shorter + 1

eI M OO0 OO M Oo-1 0 01 [L1T] (1]
e case2 = longer - shorter[] [IIT] m oo

4. 7?7

e [T :sides =1[3, 6]
e 111 x:4,5,6,7,8-[ 5[]
e [I] :
casel=3+6-1=8
case2 =6-3=3
answer =8-3=57]

27

e case2[] [1][ 1]

e (I (M1 1M I o+ -1 [
Il OO OO M M

e (shorter + longer - 1) - (longer - shorter)



12. [Java] ??7?(1): break vs
continue

1. 77 7?7

e https://school.programmers.co.kr/learn/courses/30/lessons/120956

e [II1TH oo (1)
eI, OO0 OO 00D OO0 M

2. 7?7777

import java.util.*;

class Solution {
public int solution(String[] babbling) {
String[] canSay = {"aya", "ye", "woo", "ma"};

int count = 0;

for (String word : babbling) {
String temp = word;

boolean isValid = true;

for (String say : canSay) {
// 000 000 000 00

if (temp.contains(say + say)) {
isValid = false;

break;

if (!isValid) continue;

// 00 00 00 00


https://school.programmers.co.kr/learn/courses/30/lessons/120956

for (String say : canSay) {

temp = temp.replace(say, " ");

// 00 000000 00 (D00 00 00 trim()00 0O0)
if (temp.trim().isEmpty()) {

count++;

return count;

3. P 27?2077 07?0707 9?7

if (temp.contains(say + say)) {
isValid = false;

break;

0 M OO 00O OO0 /oI (11 (0 [

eIl ‘"ayaaya'lll [ OO 00 M OO o 01

e 111 "ayaaya", "mama", "woowoo" [T] [11] 111 1111

e[l [M ,say="aya"[M 0O 0 say + sayl] "ayaaya"[I]

e temp.contains("ayaaya")[] temp [11J [0 ‘“ayaaya'"[ [ OIDO 111

4. continue

e isValid]] false] [ -0 00 00O M 00 OO M g 0 MW o
m .M g o

eI O continuel] I OO [T ([ (L] L1

for (String word : babbling) {
// 00 0000 000 0000 0O

if (!isValid) continue;



// 00 00 000 Doot

e lisValid[] true[l] ,[ isValid == false[]]
e »[[1 word] 00 M OIO

- [ replace IO M M

- [ [ word] [ITI]

5. break

ebreak[] [ :"00 OO M "M M O
el I © 0n OO0 00D OO0 O

for (String say : canSay) {
if (temp.contains(say + say)) {
isValid = false;

break; // 0 0 for 000 ODCO!

11 break;] [II canSay [11] 111 for(l1 [0

oo 0 o O 0 - continue; ] -0 OO skipl [0 00O OO0 (1]
[LIT]

if (!isValid) continue;

6. continue VS break

for each word in babbling:
for each say in canSay:
if word contains say+say:
isValid = false
break « OO0 00 ford 0O
if (!'isValid) continue « [J 00 OO 00 word [0

e break :[T1 [0 [II 10 [



e continue : [I] [0 [OIO M 00 M



